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1. 1- Ifthe turn ratio of a transformer is 10, then F710 &
N

. Vs =V, x10 (D) Ng=10xN, (c) N =T(;; (B) Is =10x1I, (A)
2 - Speed of sound in solid is comparatively faster than gases & &vz B L ,—f Ay i MU -2

) fvetimes 8y (a)

+G£%Juxué’/7tfc/‘fu{ -3

eight times (/T (D) two times (/s (C) fifteen times tfu,c;

3 - Capacitance is defined as

g © Qv (© J- Ve @
4- Charge on alpha particle is et e ¢ Jﬁg W4
5¢ (D) 4e (C) /3 g 2e (A)
5-  Release of energy by the S'un is due to g 2, &S L SN s L Jf S -5
) nuclear fusion iZ 4 (B) nuclear fission * 4% (a)
chemical reaction &5 £ A1, Jod (D) burning of gases « o (§'k £ ~L(©)
6 - To make burglar alaram, we use ur &S Je I L Ly pufng. -6
NOT gate o« it (D) ORgate =f.7 (C) AND gate o %! (B) NANDgate % (A)
7-  The term e-mail stands for : «FS 9 7
electronic mail ' 6140 (B) ‘ emergency mail J<%g (A)
_ external mail &' i1 (D) extra mail 4/»,{, (©)
8- The relation between velocity, frequency,and wave length <« u""? U £ E’%p v u*f/'ro"u; g $kl -8
of awave is
ey o A= () fA=v (@) vi=2 (A)
9. 1fX=AB, then X is "1 when AEng1ddxiaB=x S g
AorBis'0 A=0 | B=0 (B) AandBare'!" A=1 . B=1 (A)
Ais''and Bis'0' A=1 s B=0 (D) ‘ Ais'0'andBis'1" A=0 .f B=1 ©)
10- The type of image formed by a convex lens on a screen is < bl (‘-f! J (;' v £ q/‘ /-.:' u’gf - 10
inverted and virtual J;;/; J}’(,;J' (B) inverted and real wa! th (A)
upright and virtual J.:g» # % (D) upright and real ¥ st (£ )
11 - How does sound travel from its source to your ear? S G’f"dj _E.?«Tr_ r)'Lb Lnig ki 11
by changes in air pressure <« s JJ;,V“L;.? HEP P (A)
by vibrations in wires or strings <. J’iﬁ’b J Ual |t (B)
by electromagnetic waves iy sy 24 ()
A by infrared waves Ay sy £iJ1 (D)
12- What is the power rating of a famp connected to a v J»g d/.;n;' el ol g Url 12A .12
12V source when it carries 2.5 A? - At LS 25A o B2 Y
60 W (D) Y W (C) 145W (B) 48W (A)
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Time: 1:45 Hours Group:1 SUBJECTIVE
Marks: 48 ‘é,ﬂ‘j‘, /23

Note: Section I is compulsory. Attempt any TWO (2)
questions from Section II.

raper: 11

Section -1 Jil .o

(2x6=10) -Z fepz Loty (B) &L -2

2 - Write short answers to any FIVE (5) questions.

i- Whyin !grge shopping centres convex mirrors are used
for security purposes?

ii- Draw a ray diagram of image formation by a com.bound
microscope.

iii- Why do we use refracting telescope with large objective
lens of large focal length?

iv- Aray of light enters from air into glass. The angle of incidence
is 300. If the refractive index of glass is.1.52, then find the
angle of refraction.

v - Define amplitude and frezwency. =

vi- Define simple‘pendulum.

vii- Define spring constant and write’down its
viii- Define OR gate and write down its tfuth table.

3 - Write short answers to any (5) questions.

i- Define ICT.
What is the differepte between RAM and ROM rlemories?

ii -
iii- Draw electric field lines due to positive and negative charges.
iv- Define capacitance and give its SI unit. '

v- What do you know about zero-bel?
vi- Calculate the frequency of a sound wave of speed
340 ms™ and wave length 0.5 m.

vii- Define loudness. On what factors does the loudness of

sound depend? ‘ |

viii - Define internet and write down its two services.

4 - Write short answers to any FIVE (5) questions.
State the Ohm law and write down its mathematical form.
Define resistance and its unit.

State the rule by which the direction of lines of force of
magnetic field around a straight current carrying conductor
¢an be determined.
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What is a transformer? On which principle it works? e S H U S e W) i
What do you mean by the term radio activity? Se sl Ve L § K1 4hs v
Fine the resistance if V=6v and =2A 1=2A s V=bv A & o % v
Draw a circuit diagram of three resistances R1, R2andR3 rl/ll:‘ &(/J’w L L JUR3 R, R2 -vii
connected in parallel combination. -&b
Can a current fiow in a cirouit without potential difference? L AL S Pl S LY i
e (&
Section - II (1 %
Note: Attempt any TWO (2) questions. il :JWIL@ULV (2) pe J:( T
5 - (a) Whatis ripple tank? Write down the construction (4) & (¥ a3 SUite VB (D _ 5
and working of ripple tank with diagram. b ful
(b) An object 30 cm tall is located 10.5 cm from a (5) L105cma s {O’ ,/ b;'ﬂ 30 cm i (&)
concave mirror with focal length 16 cm. Where is Jw16cm EQ Ja;’ S /,ﬁ ey g Mot
the image located? ~ ?J & Ul &
@ - (a) Describe an activity to demonstrate the-phenomenon  (4) L& ol e Jf L Cf el df/ (G . g
of echo.
(b) Two point charges q; =10pcandq, =35uc (5) q, =5Hc i qy =10pc 2l 241 2 (o)
are placed at a distance of 150 cm.What will be Uen gty &£ £y Jeb £ 150 cm
the coulomb's force between them? Also'find the ..é r}"‘c/ J P % S‘J ny B .,)f _
direction of the force.
7 - (a) Define the term specific resistance. Discuss different W  SudrE Sy (U .7
factors which affect the resistance of conductor. _é woloy S Pty Ly AL
(b) Cobalt-60 is a radioactive element with half life (6B) -+ Ju 5.25 | J 60-2J4s gk ()
of 5.25 years. What fraction of ﬂffé)original sample o K e S ¢ 60-.‘);/ # 26
will be left after 26 years? " 8 2l os O
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1. 1- Compound used for diagnosis of brain tumor is
. N-152 (D) H-3 (C)

2. The focal length is related to the radius of curvature by

% © 5
3 - The time interval after which the voltage repeats
its values is known as
wave length é‘@j; B
displacement ¥} (D)
4- |Isotopes are atoms of same element with different

/J e

)lu‘u /\ ,ﬁ‘ (D)

atomic number
number of electrone
i - Particles emitted from hot cathode surface are
negative ions /chJ»; (B)
electrons 7;}9’ (D)
6 - If we double both the current and the voltage in a
circuit while keeping its resistance constant, the power
haiVe§ Ve O # —is (B)
quadruples & 3 » 17k (D)
7- The output of a NAND gate is '0' when
.both ofits inputs are 1" B=1 1 A=1_(B)
anyof itsinputis't'  B=1 | A=1((D)
8- The loundness of a sound is most closely related to
amplitude 3£+ (D)  wavelength ;@i{; (€)
9. Number of input/inputs of NOT operation is/are
4 (D) '
10- An AC generator works on the principle of
electrostatic induction ﬂﬁ’ .@;}9' (B)
none of these 7 Ut ¢t (D)
11 - Which of the foliowing is an example of simple
hammonic motion?

3 (C)

< bwr Jut ,M;fé Zgst § e bb

1-131 (B) P-32 (A)

< u"’uw «:f.JTu)l./.ul ﬁ?@{f;

R4 ® R; (A)
L t‘t&fr;. CEL’/:) fu}'f.:"d;l 5» LS By

frquency UHES (A)

time period 14 f’k (C)

Y L AL et (5 L AT
« (3)4..51756//:;, by

ALt (A)
number of protons sl § 7y (C)
Ut x Ll e 5({5:;{(/"! }2‘/& c%J

positive ions  #T iy (A)

atomic mass

protons '/':7;4 ©

J!& ;'U:) s fu]v é” sl

remains unchanged t% Hop oW
¢ Jestth (C)
2o 3T 2L (NAND)
B=0 .o A=0 (A)
any of its inputis'0"  B=0{ A=0 (C)

o bt A ol K UF3S0 L

period tg (B) frequency UHES (A)

Ut o ] - 2ot § 0T (NOT) 2t

2 (B) 1 (A

& tr/(u el 2 et

electromagnetic induction ¢ a3 _@,Q /ﬂl (A)
bothA&B UM B sl A (C)

P e LS ol e Ut e

doubles
Adno

both of its inputs are '0'

T /¢ uy f
the motion of simple pendulum u’y‘ J ’Ju,f;:; b |
the motion of celling fan rlE Ly (B)

the spinning of the earth on its axes u’r’)f P /§, z J I (€)

12- Image formed by a camera is

real, inverted and diminished

the motion of a bouncing ball on a floor

JrJJdnu“’uJ/ )
¢ Onne G G2 A
O3 et Flefs ()

virtual, upright and diminished O et S Sins (B)
virtual, upright and magnified (% oy gf,g-‘:J:gn ©)

— real, inverted and magnified
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arks: 48 Crey - 2223 48:%

e Section I is compulsory. Attempt any TWO (2)

questions from Section IL

(2) ve ch_ (ﬂ-(».«’o -y Sio s
-dc-,uz L iy

Section - I J:’ -

.Write short answers to any FIVE (b) questions.

- Define simple harmonic motion.

- | the length of a simple pendulum is doubled,
what will be the change in its time period?

- What is meant by farsightedness?

.. Determine the power of lens, if its focal length is 10 m.

.. State Snell's law and write down its formula.

i- Draw the symbol of NOT gate and also write down its
truth table.

i- NAND gate is the reciprocal of AND gate. Explain.

ii- Whatis meant by logic variables?

- Write short answers to any FIVE (5) questions.
i- What are the ranges of audible frequency of sound?
ii- Calculate the frequency of a sound wave of speed
340ms ' and waveiéngth 0.5m.
ii- Write down two uses of fax machine.
iv- Whatis cell phone?
v- Write down any two services of Internet.
vi- How can we identify conductors and insulators
by an electroscope?
vii- Explain quality of sound.

iii- What is flash drive?

1 - Write short answers to any FIVE (5) questions.
i- What is the difference between electric current and
conventional current?
ii- Draw the circuit diagram of three resistors which are
connected in parallel.
iii- State Lenz' law.

vi- Can a transformer operator on direct current?
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v- Define kilowatt hour. How it is determined?

vi~- Complete the nuclear reaction

235 140

U - Xe+?+ 261+ Energy
54

vii - Find the number of protons and neutrons

13
in the nuclide defined by 6X :

viii-  Define isotpe. Write down the isotpe of hydrogen (H).

Section -

Note: Attempt any TWO (2) questions.

5 ~ (a) With the help of diagram, describe the passage
of light through a glass prism, aiso define the
angle of deviation.,

(b) A transverse wave produ¢ed.on a spring has
a frequency of 190 Hz and travels along the
length of the spring of 90 m in 0.5°s
i) What is the period of the wave?
iy What is the speed of the wave?

6 - (a) Define potential difference between two points
and explain it with the help of a diagram.

(b) At a particular temperature, the speed of sound in
airis 330 ms—1 . If the wavelength of a note is 5 cm,
calculate the frequency of the sound wave. Is this
frequency in the audible range of the human ear?

7 - (a) Whatis a "Relay"? Give its use and make its
tabulated diagram.

(b) The resistance of a conductor wire is 10MQ .

If the potential difference of 100 volts is applied
across its ends, then find the value of current

passing through it in mA.
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